CONTRACT FOR INVITATION TO BID #17-028 BETWEEN CITY OF PENSACOLA AND R.A.W. CONSTRUCTION, LLC

AMENDMENT NO. 1

THIS AMENDMENT ("Amendment No. 1") TO T	THE CONTRACT FOR INVITATION TO BID #17-
028, is made and entered into thisday of	, 2018, by and between the City of Pensacola
("City"), a Florida municipal corporation created and existin	g under the laws of the State of Florida, and R.A.W.
Construction, LLC., ("Contractor"), a limited liability comp	pany authorized to do business in Florida, located at
710 Lewis Boulevard, South, Tallahassee, FL 32305.	

WITNESSETH:

WHEREAS, City and Contractor entered into a Contract dated the 28th day of August, 2017 ("Original Agreement"), incorporated herein by this reference, for natural gas construction East of I-110 (Low Pressure Area Upgrades).

WHEREAS, the City awarded a service contract for <u>Bid # 17-028</u> (Natural Gas Pipeline Construction East of I-110 Low Pressure Area Upgrades), to the Contractor.

WHEREAS, the parties intended to provide for unit price option work in the Original Agreement with Task Order 8; and

WHEREAS, the parties now desire to amend Task Order 8 upon the terms and conditions hereinafter set forth to provide for unit price option work beyond the original term of September 30, 2018;

NOW, THEREFORE, in consideration of the mutual covenants and agreements herein contained, it is agreed that Section 2.0, Pricing is agreed and amended as follows:

Section 2.0. PRICING

Any fees, costs or expenses due Contractor under this Agreement shall be paid at the rates specified in Exhibit A, attached hereto and made a part hereof, at a total cost not to exceed \$549,300.00 (Five Hundred Forty-Nine Thousand and Three Hundred dollars) for the period ending September 30, 2018

For the period from October 1, 2018 to December 31, 2018, the Contractor shall be paid at the rates specified in Exhibit A, at a total cost not to exceed \$250,000.00 (Two Hundred Fifty Thousand dollars).

IN WITNESS WHEREOF, the parties hereto have caused this Amendment No. 1 to be executed and sealed the day and year first above written.

CONTRACTOR	CITY OF PENSACOLA, FLORIDA
R.A.W. Construction, LLC	
(Contractor's Name)	Mayor, Ashton J. Hayward, III
Ву	
Member	City Clerk, Ericka L. Burnett
(Printed Member's Name)	Approved as to substance:
By:	Deportment Director/Division Head
Member	Department Director/Division Head
(Printed Member's Name	Legal in form and valid as drawn:
(SEAL)	
	City Attorney

Exhibit A

FEE SCHEDULE

UNIT PRICE WORK (1 OF 2)

Unit Price Work is for unforeseen optional work during Contract Period. Any Task Order that exceeds \$25,000 will require City Council approval prior to any work commencing. Unit Price Work will be performed only at the express written request of PE and no compensation will be made for work not so directed. PE is not obligated to assign any Unit Price Work under this Contract. By submitting its bid, Bidder agrees that if such work is assigned it will be compensated as set forth below during the duration of the Contract. No compensation shall be paid for travel time where work is being performed under the Unit Price Work. Estimated quantities are included for bid purposes. For the purpose of assigning Unit Price Work during Contract Period, a unit price must be entered for all items of work even if no estimated quantity is listed. Refer to Section 2.26 for Bid Item Descriptions.

Main Installation	Est. Qty.	Unit	Unit Price	Total Cost
2" P.E. Main Install Trenchless	6000	LF	s 10.00	s 60,000.00
2" P.E. Main Install Open Trench	2000	LF	\$ 10.00	S 20 800 00
4" P.E. Main Install Trenchless	2000	LF	\$ 17.00	s .34,000.00
4" P.E. Main Install Open Trench		LF	\$	
6" P.E. Main Install Trenchless	2000	LF	\$ 21.00	s 42,000°
6" P.E. Main Install Open Trench		LF	\$ 21.00	
8" P.E. Main Install Trenchless		LF	\$ 35.00	
8" P.E. Main Install Open Trench		LF	\$ 35.00	_
10* P.E. Main Install Trenchless		LF	\$ 45.00	
10* P.E. Main Install Open Trench		LF	\$ 45.00	
<= 2" Mole		LF	\$	
Tie ins (New to Existing)			\$	
Tie in Existing P.E. Services	40	EA	\$ 375.00	s 15,000.00
< = 2" P.E. to 2" Steel or greater	10	EA	\$ 1200.00	\$ 12,000.00
<= 2* P.E. to <= 2* P.E.	40	EA	\$ 800.00	s 32,000.00
2" P.E. to 4" P.E.	10	EA	\$ 900.00	\$ 9 000.00
2" P.E. to 6" P.E.	10	EA	\$ 1000.00	s 10,000.00
2" P.E. to 8" P.E.		EA	\$ 1400.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
2" P.E. to 10" P.E.		EA	\$ 1500.00	
4" P.E. to 2" Steel		EA	\$ 1500.00	
4" P.E. to 4" Steel or greater	6	EA	\$ 2000.00	\$ 12,000.00
4" P.E. to 4" P.E.	6	EA		\$ 7,200.00
4" PE. to 6" P.E.		EA	\$ 1500.00	
4" P.E. to 8" P.E.		EA	\$ 1800.00	
4" P.E. to 10" P.E.		EA	\$ 2000.00	
6" P.E. to 2" Steel		EA	\$ 1800.00	
6" P.E. to 4" Steel		EA	s 2400.00	
6" P.E. to 6" Steel or greater		EA	s .300000	
6" P.E. to 6" P.E.		EA	s 1800 00	
6" P.E. to 8" P.E.		EA	s 2000.00	
6" P.E. to 10" P.E.		EA	s 2400.00	
8" P.E. to 2" Steel		EA	s 2200.00	
8" P.E. to 4" Steel		EA	s 2600 d	
8" P.E. to 6" Steel		EA	\$ 3500.00	
8" P.E. to 8" Steel or greater		EA	\$ 4000 00	_
8" P.E. to 8" P.E.		EA	s 2400.00	
8" P.E. to 10" P.E.		EA	\$ 3500.00	

UNIT PRICE WORK (2 OF 2)

10" P.E. to 2" Steel		EA	\$ 2400.00	
10" P.E. to 4" Steel		EA	\$ 3200.00	_
10" P.E. to 6* Steel		EA	\$ 40,00.00	
10" P.E. to 8" Steel		EA	\$ 4.500.00	
10" P.E. to 10" Steel		EA	\$ 500000	
10" P.E. to 10" P.E.		EA	s 4 000 00	
Valve Installation				
2" P.E. Valve		EA	\$ 300.00	
4" P.E. Valve		EA	\$ 450.00	
6" P.E. Valve		EA	\$ 650.00	
8" P.E. Valve		EA	S 750.00	
10° P.E. Valve		EA	\$ 1,000.00	
Stoppers			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
2" Steel Stopper		EA	S 1.500.00	
4" Steel Stopper		EA	S 3 400.00	
6" Steel Stopper		EA	S 7,000.00	
8" Steel Stopper		EA	s 8,500.00	
10° Steel Stopper		EA	\$ 12,000.00	
Service Installation			1, 2	
Services up to 80' of 3/4 to 1 1/4" mole	20	LS	s 600.00	3 12,000
Services up to 80' of 3/4 to 2" bore	30	LS	\$ 745.00	3 21, 75000
Services up to 80' of 3/4 to 2" trench	20	LS	\$ 725.00	3 14.50000
Add'l footage beyond 80' by bore	500	LF	\$ 10.00	\$ 500000
Add'l footage beyond 80' by trench	500	LF	S 10.00	3 5,000
Miscellaneous				
Retire Steel Main	1000	LF	s 1.50	s 1,500 60
Asphalt cutting/removal/haul	100	SY	\$ 3.00	3 300 00
Asphalt Replacement	100	SY	\$ 10.00	S / 200 00
Concrete cutting/removal/haul	100	CY	\$ 3.00	S .300 °
Concrete Replacement	100	CY	\$ 11.00	S 1.100 20
Sod Replacement	500	SY	\$ 7.00	s 3,500 00
Seed and Mulch	500	SY	s 1.80	s 900 00
Dewatering pit		EA	\$	
Dewatering main line		FT	\$	
Dewatering main line		FT	\$	
Unit Price Work Total				\$ 320,050.00

7-20-17 Date